# Fixed Point Theorems Under Strict Contractive Conditions In Fuzzy Metric Spaces

Sonia Rani A.S. College for Women, Khanna

ABSTRACT: In this paper, by using property (E.A.), we prove common fixed point theorems for weakly compatible mappings satisfying strict contractive condition in fuzzy metric spaces. Mathematics subject classification: 54E40, 54E35, 54H25. Keywords: Fuzzy metric space, Compatible mappings, Weakly compatible mappings.

Date of Submission: 15-01-2022

Date of acceptance: 30-01-2022

# I. INTRODUCTION:

In 1986, Jungck [7] introduced the concept of Compatible mapping and proved some common fixed point theorems of compatible mappings in metric space. The notion of fuzzy sets was introduced by Zadeh [17]. Various concepts of fuzzy metric spaces were considered in [8, 9]. Many authors have studied fixed point theory in fuzzy metric spaces. The authors [4, 5, 1 3, 14] have proved fixed point theorems in fuzzy (probabilistic) metric spaces. It is well known that the probabilistic metric space is an important generalization of metric space (sec [14]). Fixed point theory in probabilistic metric spaces can be considered as a part of probabilistic analysis, which is a very dynamic area of mathematical research.

# Definition 1.1:

A binary operation \*:  $[0, 1] \times [0, 1] \rightarrow [0, 1]$  is a continuous t-norm if it satisfies the following conditions.

- 1) \* is associative and commutative,
- 2) \* is continuous
- 3)  $a*1=a \text{ for all } a \in [0,1]$
- 4)  $a*b \le c*d$  whenever  $a \le c$  and  $b \le d$ , for each  $a,b,c,d \in [0,1]$ .

Two typical examples of continuous t-norm are a\*b = ab and a\*b = min (a, b).

# **Definition 1.2**:

A 3-tuple (X,  $\mathcal{M}$ , \*) is called a fuzzy metric space if X is an arbitrary (non-empty) set, \* is a continuous t-norm, and  $\mathcal{M}$ -is a fuzzy set on  $X^2 \times (0, \infty)$ , satisfying the following conditions for each x, y,  $z \in X$  and t, s > 0,

- 1)  $\mathcal{M}(\mathbf{x}, \mathbf{y}, \mathbf{t}) > 0$ ,
- 2)  $\mathcal{M}(x, y, t) = 1$  if and only if x = y,
- 3)  $\mathcal{M}(x, y, t) = \mathcal{M}(p\{x, y\}, t)$  (symmetry) where p is a permutation function,
- 4)  $\mathcal{M}(x, y, t) * \mathcal{M}(y, z, s) \le \mathcal{M}(x, z, t+s)$
- 5)  $\mathcal{M}(\mathbf{x},\mathbf{y},\cdot)$ :  $(0,\infty) \rightarrow [0,1]$  is continuous

## Example 1.3:

Let X be a non-empty set and D is the D-metric on X. Denote a\*b = a.b for all  $a,b \in [0,1]$ .

For each  $t \in (0, \infty)$ , define  $\mathcal{M}(x, y, t) = t/[t + D(x,y)]$  for all x,  $y \in X$ . It is easy to see that  $(X, \mathcal{M}, *)$  is a  $\mathcal{M}$ -fuzzy metric space.

## **Definition 1.4**:

Let A and S be mappings from a fuzzy metric space (X,  $\mathcal{M}$ , \*) into itself. Then the mappings are said to be weak compatible if they commute at their coincidence point, that is Ax = Sx implies that ASx = SAx.

## Definition 1.5:

Let A and B be two self-mappings of a fuzzy metric space (X,  $\mathcal{M}$ , \*). We say that A and B satisfy the property (E-A), if there exists a sequence  $\{x_n\}$  such that  $\lim_{n\to\infty} \mathcal{M}(Ax_n, u, t) = \lim_{n\to\infty} \mathcal{M}(Bx_n, u, t) = 1$  for same  $u \in X$  and t>0.

## **II. MAIN RESULTS:**

Let  $\mathcal{F}$  be the set of all fuzzy set on  $X^2 \times (0, \infty)$  that is  $\mathcal{F} = \{f: X^2 \times (0, \infty) \rightarrow [0, 1]\}.$ 

## **Definition 2.1**:

Let f and  $g \in \mathcal{F}$ . The algebraic sum  $f \oplus g$  of f and g is defined by  $f(x, y, t) \oplus g(x', y', t) = \underset{t_1+t_2=t}{\text{Sup}} \min\{f(x, y, t_1), g(x', y', t_2)\}$ 

Throughout this section  $\Phi$  denotes a family of mappings such that for each  $\varphi \in \Phi$ ,  $\varphi:[0,1]^2 \rightarrow [0,1]$  is continuous and increasing in each co-ordinate variable. Also  $\gamma(t) = \varphi(t, t) \ge t$  for every  $t \in [0,1]$ .

Now, we prove a common fixed point theorem using a property (E-A).

## Theorem 2.2:

Let A, B, S and T be mappings from a fuzzy metric space  $(X, \mathcal{M}, *)$  into itself satisfying the following conditions. A(X)  $\subseteq$  T(X), B(X)  $\subseteq$  S(X)  $\rightarrow$  (2.1).

$$\mathcal{M}(Ax, By, t) \geq \varphi \begin{cases} \mathcal{M}\left(Sx, Ty, \frac{2t}{k}\right), \mathcal{M}\left(Ax, Sx, \frac{2t}{k}\right) \oplus \mathcal{M}\left(By, Ty, \frac{2t}{k}\right), \\ \mathcal{M}\left(Ax, Ty, \frac{4t}{k}\right) \oplus \mathcal{M}\left(Sx, By, \frac{4t}{k}\right) \end{cases} \rightarrow (2.2).$$

for all x,  $y \in X$ , t > 0,  $\phi \in \Phi$ , and  $0 \le k < 2$ . Suppose that one of the pairs (A, S) and(B, T) satisfies the property (E, A). (A, S) and (B,T) are weakly compatible and one of A(X), B(X), S(X) and T(X) is a complete subspace of X. Then A, B, S and T have a unique common fixed point in X.

## **Proof**:

Suppose that the pair (B, T) satisfies the property (E. A) then there exists a sequence  $\{x_n\}$  in X such that  $\lim_{n\to\infty} \mathcal{M}(Bx_n, z, t) = \lim_{n\to\infty} \mathcal{M}(Tx_n, z, t) = 1$  for some  $z \in X$  and all t>0. Therefore  $\lim_{n\to\infty} \mathcal{M}(Bx_n, Tx_n, t) = 1$  since  $B(X) \subseteq S(X)$ .

There exists a sequence  $\{Y_n\}$  in X such that  $Bx_n = SY_n$ , hence  $\lim_{n \to \infty} \mathcal{M}(Sy_n, z, t) = 1$ . We prove that  $\lim \mathcal{M}(Ay_n, z, t) = 1$ . Using (2.2) we have

$$\mathcal{M}(Ay_{n}, Bx_{n}, t) \geq \varphi \begin{cases} \mathcal{M}\left(Sy_{n}, Tx_{n}, \frac{2t}{k}\right), \mathcal{M}\left(Ay_{n}, Sy_{n}, \frac{2t}{k}\right) \oplus \mathcal{M}\left(Bx_{n}, Tx_{n}, \frac{2t}{k}\right), \\ \mathcal{M}\left(Ay_{n}, Tx_{n}, \frac{4t}{k}\right) \oplus \mathcal{M}\left(Sy_{n}, Bx_{n}, \frac{4t}{k}\right) \end{cases} \\ = \varphi \begin{pmatrix} \mathcal{M}\left(Bx_{n}, Tx_{n}, \frac{2t}{k}\right), \mathcal{M}\left(Ay_{n}, Bx_{n}, \frac{2t}{k}\right) \oplus \mathcal{M}\left(Bx_{n}, Tx_{n}, \frac{2t}{k}\right), \\ \mathcal{M}\left(Ay_{n}, Tx_{n}, \frac{4t}{k}\right) \oplus 1 \end{pmatrix} \rightarrow (2.3). \end{cases}$$
  
Since  $\lim \inf \mathcal{M}\left(Ay_{n}, By_{n}, \frac{2t}{k}\right) \oplus \mathcal{M}\left(By_{n}, Ty_{n}, \frac{2t}{k}\right) = 0$ 

Since,  $\lim_{n \to \infty} \inf \mathcal{M}\left(Ay_n, Bx_n, \frac{2t}{k}\right) \oplus \mathcal{M}\left(Bx_n, Tx_n, \frac{2t}{k}\right)$ 

$$\geq \lim_{n \to \infty} \inf \min \left\{ \mathcal{M} \left( Ay_n, Bx_n, \frac{2t}{k} - \epsilon \right), \mathcal{M} (Bx_n, Tx_n, \epsilon) \right\}$$
  
= 
$$\lim_{n \to \infty} \inf \mathcal{M} \left\{ Ay_n, Bx_n, \frac{2t}{k} - \epsilon \right\}$$

letting  $\in \rightarrow 0$ , in the above inequality, we get  $\lim_{n \to \infty} \inf \mathcal{M} \left\{ Ay_n, Bx_n, \frac{2t}{k} \right\} \oplus \mathcal{M} \left\{ Bx_n, Tx_n, \frac{2t}{k} \right\} \ge \lim_{n \to \infty} \inf \mathcal{M} \left( Ay_n, Bx_n, \frac{2t}{k} \right).$ Also, by remark 2.2,  $\lim_{n \to \infty} \inf \mathcal{M} \left( Ay_n, Tx_n, \frac{4t}{k} \right) \oplus \mathcal{M} \left( Sy_n, Bx_n, \frac{4t}{k} \right) = \lim_{n \to \infty} \inf \mathcal{M} \left( Ay_n, Tx_n, \frac{4t}{k} \right) \oplus 1$   $\ge \liminf_{n \to \infty} \mathcal{M} \left( Ay_n, Tx_n, \frac{2t}{k} \right),$ 

hence letting  $n \to \infty$ , in inequality (2.3), we get,  $\lim_{n \to \infty} \inf \mathcal{M}(Ay_n, z, t) = \mathcal{M}\left(\lim_{n \to \infty} \inf \mathcal{M}Ay_n, z, t\right) = \lim_{n \to \infty} \inf \mathcal{M}(Ay_n, Bx_n, t)$ 

www.ijres.org

$$\geq \varphi \lim_{n \to \infty} \inf \mathcal{M} \left( Bx_{n}, Tx_{n}, \frac{2t}{k} \right), \lim_{n \to \infty} \inf \left\{ \mathcal{M} \left( Ay_{n}, Bx_{n}, \frac{2t}{k} \right) \oplus \mathcal{M} \left( Bx_{n}, Tx_{n}, \frac{2t}{k} \right) \right\},$$

$$\lim_{n \to \infty} \inf \left\{ \mathcal{M} \left( Ay_{n}, Tx_{n}, \frac{4t}{k} \right) \oplus 1 \right\} \geq \varphi \left( 1, \lim_{n \to \infty} \inf \mathcal{M} \left( Ay_{n}, Bx_{n}, \frac{2t}{k} \right), \lim_{n \to \infty} \inf \mathcal{M} \left( Ay_{n}, Tx_{n}, \frac{2t}{k} \right) \right)$$

$$\geq \varphi \left( \lim_{n \to \infty} \inf \mathcal{M} \left( Ay_{n}, Bx_{n}, \frac{2t}{k} \right), \lim_{n \to \infty} \inf \mathcal{M} \left( Ay_{n}, Bx_{n}, \frac{2t}{k} \right), \lim_{n \to \infty} \inf \mathcal{M} \left( Ay_{n}, Tx_{n}, \frac{2t}{k} \right) \right)$$

$$= \varphi \left\{ \mathcal{M} \left( \lim_{n \to \infty} \inf Ay_{n}, z, \frac{2t}{k} \right), \mathcal{M} \left( \lim_{n \to \infty} \inf Ay_{n}, z, \frac{2t}{k} \right), \mathcal{M} \left( \lim_{n \to \infty} \inf Ay_{n}, z, \frac{2t}{k} \right) \right\}$$

$$\geq \mathcal{M} \left( \lim_{n \to \infty} \inf Ay_{n}, z, \frac{2t}{k} \right)$$

Similarly,  $\lim_{n \to \infty} \sup \mathcal{M}(Ay_n, z, t) = \mathcal{M}\left(\lim_{n \to \infty} \sup Ay_n, z, t\right) = 1$ , hence,  $\lim_{n \to \infty} \mathcal{M}(Ay_n, z, t) = 1$ . Assume that S(X) is a closed subset of X. Then, There exists  $u \in X$  s.t Su = z using (2.2), we get

$$\mathcal{M}(\operatorname{Au},\operatorname{Bx}_{n},t) \geq \varphi(\mathcal{M}\left(\operatorname{Su},\operatorname{Tx}_{n},\frac{2t}{k}\right), \mathcal{M}\left(\operatorname{Au},\operatorname{Su},\frac{2t}{k}\right) \oplus \mathcal{M}\left(\operatorname{Bx}_{n},\operatorname{Tx}_{n},\frac{2t}{k}\right), \\ \mathcal{M}\left(\operatorname{Au},\operatorname{Tx}_{n},\frac{4t}{k}\right) \oplus \mathcal{M}\left(\operatorname{Su},\operatorname{Bx}_{n},\frac{4t}{k}\right))$$

$$= \varphi \begin{pmatrix} \mathcal{M}\left(z, \operatorname{Tx}_{n}, \frac{2t}{k}\right), \mathcal{M}\left(\operatorname{Au}, z, \frac{2t}{k}\right) \oplus \mathcal{M}\left(\operatorname{Bx}_{n}, \operatorname{Tx}_{n}, \frac{2t}{k}\right), \\ \mathcal{M}\left(\operatorname{Au}, \operatorname{Tx}_{n}, \frac{4t}{k}\right) \oplus \mathcal{M}\left(z, \operatorname{Bx}_{n}, \frac{4t}{k}\right) \end{pmatrix} \to (2.4).$$

In addition, it is easy to verify that  $\lim_{n \to \infty} \inf \mathcal{M} \left( \operatorname{Au}, \operatorname{Su}, \frac{2t}{k} \right) \oplus \mathcal{M} \left( \operatorname{Bx}_{n}, \operatorname{Tx}_{n}, \frac{2t}{k} \right) \ge \mathcal{M} \left( \operatorname{Au}, \operatorname{Su}, \frac{2t}{k} \right) \to (2.5).$ In fact, for all  $\in \in \left( 0, \frac{2t}{k} \right)$ , we have  $\mathcal{M} \left( \operatorname{Au}, \operatorname{Su}, \frac{2t}{k} \right) \oplus \mathcal{M} \left( \operatorname{Bx}_{n}, \operatorname{Tx}_{n}, \frac{2t}{k} \right) \ge \min \left\{ \mathcal{M} \left( \operatorname{Au}, \operatorname{Su}, \frac{2t}{k} - \epsilon \right), \mathcal{M} \left( \operatorname{Bx}_{n}, \operatorname{Tx}_{n}, \epsilon \right) \right\}$ Since  $\lim_{n \to \infty} \operatorname{Bx}_{n} = \lim_{n \to \infty} \operatorname{Tx}_{n} = \operatorname{Su}$ , the above inequality implies that,  $\lim_{n \to \infty} \inf \left( \mathcal{M} \left( \operatorname{Au}, \operatorname{Su}, \frac{2t}{k} \right) \oplus \mathcal{M} \left( \operatorname{Bx}_{n}, \operatorname{Tx}_{n}, \frac{2t}{k} \right) \ge \mathcal{M} \left( \operatorname{Au}, \operatorname{Su}, \frac{2t}{k} - \epsilon \right) \right)$ Letting  $\epsilon \to 0$ , in the above inequality, we get (2.5). Also by remark (2.2), we get  $\lim_{n \to \infty} \inf \left( \mathcal{M} \left( \operatorname{Au}, \operatorname{Tx}_{n}, \frac{4t}{k} \right) \oplus \mathcal{M} \left( \operatorname{Su}, \operatorname{Bx}_{n}, \frac{4t}{k} \right) \right) = \lim_{n \to \infty} \inf \mathcal{M} \left( \operatorname{Au}, \operatorname{Tx}_{n}, \frac{4t}{k} \right) \oplus 1$   $\geq \liminf_{n \to \infty} \mathcal{M} \left( \operatorname{Au}, \operatorname{Tx}_{n}, \frac{2t}{k} \right)$ 

So, letting 
$$n \to \infty$$
, in inequality (2.4), we get  
 $\mathcal{M}(\operatorname{Au}, z, t) \ge \varphi \left(1, \mathcal{M}\left(\operatorname{Au}, z, \frac{2t}{k}\right), \mathcal{M}\left(\operatorname{Au}, z, \frac{2t}{k}\right)\right)$   
 $\ge \varphi \left(\mathcal{M}\left(\operatorname{Au}, z, \frac{2t}{k}\right), \mathcal{M}\left(\operatorname{Au}, z, \frac{2t}{k}\right), \mathcal{M}\left(\operatorname{Au}, z, \frac{2t}{k}\right)\right)$   
 $\ge \mathcal{M}\left(\operatorname{Au}, z, \frac{2t}{k}\right)$   
 $\vdots$   
 $\ge \mathcal{M}\left(\operatorname{Au}, z, \left(\frac{2}{k}\right)^{n} t\right) \to 1.$ 

Hence,  $\mathcal{M}(Au, z, t) = 1$ .

That is, Au= Su= z. Since, A(x)  $\subseteq$  T(x), There exists v  $\in$  X s.t z = Tv. Using (2.2), and Remark (2.2), we have  $\mathcal{M}(z, Bv, t) = \mathcal{M}(Au, Bv, t)$ 

$$\geq \varphi \left( \mathcal{M} \left( Su, Tv, \frac{2t}{k} \right) \right), \ \mathcal{M} \left( Au, Su, \frac{2t}{k} \right) \oplus \mathcal{M} \left( Bv, Tv, \frac{2}{k} t \right), \\ \mathcal{M} \left( Au, Tv, \frac{4t}{k} \right) \oplus \mathcal{M} \left( Su, Bv, \frac{4t}{k} \right) \right) \\ = \varphi \left( 1, 1 \oplus \mathcal{M} \left( Bv, z, \frac{2t}{k} \right), 1 \oplus \mathcal{M} \left( z, Bv, \frac{4t}{k} \right) \right) \\ \geq \varphi \left( \mathcal{M} \left( Bv, z, \frac{2t}{k} \right), \mathcal{M} \left( Bv, z, \frac{2t}{k} \right), \mathcal{M} \left( z, Bv, \frac{2t}{k} \right) \right)$$

www.ijres.org

$$\geq \mathcal{M}\left(\text{Bv, z, }\frac{2t}{k}\right)$$
  
:  
$$\geq \mathcal{M}\left(\text{Bv, z, }\left(\frac{2}{k}\right)^{n}t\right) \rightarrow 1$$

Hence z = Bv = Tv.

Since the pairs (A, S) and (B, T) are weakly compatible, we obtain Az = Sz and Bz = Tz using the inequality (2.2), we have

$$\begin{split} \mathcal{M}(\mathrm{Az},\mathsf{z},\mathsf{t}) &= \mathcal{M}(\mathrm{Az},\mathrm{Bv},\mathsf{t}) \\ &\geq \varphi \begin{pmatrix} \mathcal{M}\left(\mathrm{Sz},\mathrm{Tv},\frac{2\mathsf{t}}{\mathsf{k}}\right), \mathcal{M}\left(\mathrm{Az},\mathrm{Sz},\frac{2\mathsf{t}}{\mathsf{k}}\right) \oplus \mathcal{M}\left(\mathrm{Bv},\mathrm{Tv},\frac{2\mathsf{t}}{\mathsf{k}}\right), \\ &\mathcal{M}\left(\mathrm{Az},\mathrm{Tv},\frac{4\mathsf{t}}{\mathsf{k}}\right) \oplus \mathcal{M}\left(\mathrm{Sz},\mathrm{Bv},\frac{4\mathsf{t}}{\mathsf{k}}\right) \end{pmatrix} \\ &= \varphi \left( \mathcal{M}\left(\mathrm{Az},\mathsf{z},\frac{2\mathsf{t}}{\mathsf{k}}\right), 1 \oplus 1, \mathcal{M}\left(\mathrm{Az},\mathsf{z},\frac{4\mathsf{t}}{\mathsf{k}}\right) \oplus \mathcal{M}\left(\mathrm{Az},\mathsf{z},\frac{4\mathsf{t}}{\mathsf{k}}\right) \right) \\ &\geq \varphi \left( \mathcal{M}\left(\mathrm{Az},\mathsf{z},\frac{2\mathsf{t}}{\mathsf{k}}\right), \mathcal{M}\left(\mathrm{Az},\mathsf{z},\frac{2\mathsf{t}}{\mathsf{k}}\right), \mathcal{M}\left(\mathrm{Az},\mathsf{z},\frac{2\mathsf{t}}{\mathsf{k}}\right) \right) \\ &\geq \mathcal{M}\left(\mathrm{Az},\mathsf{z},\frac{2\mathsf{t}}{\mathsf{k}}\right) \\ &\vdots \\ &\geq \mathcal{M}\left(\mathrm{Az},\mathsf{z},\left(\frac{2}{\mathsf{k}}\right)^{\mathsf{n}}\mathsf{t}\right) \to 1. \end{split}$$

Then Az = Sz = z.

Similarly, we can prove that z = Bz = Tz. Therefore z is a common fixed point of A, B, S and T. Now, we prove the **uniqueness:** 

Let if possible w  $\neq z$  be another common fixed point of A, B, S and T. Then by inequality (2.2), we have  $\mathcal{M}(z, w, t) = \mathcal{M}(Az, Bw, t)$ 

$$\geq \varphi \begin{pmatrix} \mathcal{M}\left(\mathrm{Sz}, \mathrm{Tw}, \frac{2t}{k}\right), \mathcal{M}\left(\mathrm{Az}, \mathrm{Sz}, \frac{2t}{k}\right) \oplus \mathcal{M}\left(\mathrm{Bw}, \mathrm{Tw}, \frac{2t}{k}\right), \\ \mathcal{M}\left(\mathrm{Az}, \mathrm{Tw}, \frac{4t}{k}\right) \oplus \mathcal{M}\left(\mathrm{Sz}, \mathrm{Bw}, \frac{4t}{k}\right) \end{pmatrix} \\ \geq \varphi \left(\mathcal{M}\left(z, w, \frac{2t}{k}\right), 1 \oplus 1, \mathcal{M}\left(z, w, \frac{4t}{k}\right) \oplus \mathcal{M}\left(z, w, \frac{4t}{k}\right)\right) \\ \geq \varphi \left(\mathcal{M}\left(z, w, \frac{2t}{k}\right), \mathcal{M}\left(z, w, \frac{2t}{k}\right), \mathcal{M}\left(z, w, \frac{2t}{k}\right)\right) \\ \geq \mathcal{M}\left(z, w, \frac{2t}{k}\right) \\ \vdots \\ \geq \mathcal{M}\left(z, w, \left(\frac{2}{k}\right)^{n} t\right) \to 1. \end{cases}$$

which is a contradiction. Hence w = z is a unique common fixed point of A, B, S and T.

#### Remark: 2.3:

Putting B = A, and T = S in the above theorem, we get the following corollary 2.6.

#### Corollary 2.4:

Let A and S be mappings from a fuzzy metric space (X, M, \*) into itself satisfying the following condition:

(i) 
$$A(x) \subseteq S(x)$$
  
(ii)  $\mathcal{M}(Ax, Ay, t) \ge \varphi \begin{pmatrix} \mathcal{M}\left(Sx, Sy, \frac{2t}{k}\right), \mathcal{M}\left(AX, Sx, \frac{2t}{k}\right) \oplus \mathcal{M}\left(Ay, Sy, \frac{2t}{k}\right), \\ \mathcal{M}\left(Ax, Sy, \frac{4t}{k}\right) \oplus \mathcal{M}\left(Sx, Ay, \frac{4t}{k}\right) \end{pmatrix}$ 

for all x,  $y \in X$ , and t>0, Where  $0 \le k < 2$ . Suppose that the pair (A, S) satisfies the property (E-A), (A,S) is weakly compatible and one of A(x) and S(x) is a complete subspace of X. Then A and S have a unique common fixed point in X.

#### REFERENCES

- S.S.Chang, Y.J.Cho, B.S.Jung, and S.M.Kang, Coincidence point theorems and minimization theorems in fuzzy metric spaces, Fuzzy sets and systems 88 (1997), no.1, 119-127.
- [2]. Y.J.Cho, H.K.Pathak, S.M.Kang, and J.S.Jung, Common fixed points of compatible maps of type (β) on fuzzy metric spaces, Fuzzy sets and Systems 93 (1998), no.1, 99-111.

- [3]. A.George, and P.Veeramani, "On Some Results in Fuzzy Metric Spaces", Fuzzy Sets and systems, 64(1994)395-399.
- [4]. M.Grebiec, "Fixed Points in Fuzzy Metric Spaces", Fuzzy Sets and Systems, 27(1988) 385-389.
- [5]. A. Gregori, and A.Sapena., "On Fixed Point Theorems in Fuzzy Metric Spaces", Fuzzy Sets and systems, 125(2002)245-252.
- [6]. O. Hadzic, Fixed point theorem for multivalued mappings in probabilistic metric spaces, Fuzzy Sets and Systems 88 (1997), no.2, 219-226.
- [7]. G. Jungck, Compatible mappings and common fixed points, Int. J. Math. Math. Sci. 9 (1986), no.4,771-779.
- [8]. O.Kaleva and S.Seikkala, On fuzzy metric spaces, Fuzzy Sets and Systems 12 (1984), no.5, 326-334.
- [9]. I. Kramosil, and J. Michalek, "Fuzzy Metric and statistical Metric Spaces", kybernetica II (1975), 330-334.
- [10]. R.P.Pant and V.Pant, Common fixed point under strict contractive conditions, J. Math. Anal. Appl. 248 (2000), no. 1, 327-332.
- [11]. B.E.Rhoades, Two fixed point Theorems for mappings satisfying a general contractive condition of integral type, Int.J.Math.Sci. 2003 (2003), no.63, 4007-4013.
- [12]. R. Saadati and J.H. Park, On the intuitionistic fuzzy topological spaces, Chaos Solitons Fractals 27 (2006), no.2, 331-344.
- [13]. R.Saadai, and S.sedghi, A common fixed point theorem for R-weakly commuting maps in fuzzy metric spaces, 6<sup>th</sup> Iranian Conference on Fuzzy Systems 2006, 387-391.
- [14]. B.Schweizer and A.Sklar, Probailistic Metric Spaces, North-Holland, Amsterdam, 1983.
- [15]. S.Sedghi, N.Shobe, and M.A.Selahshoor, A common fixed point theorem for four mappings in two complete fuzzy metric spaces, Advances in Fuzzy Mathematics 1 (2006), no.1, 1-8.
- [16]. T.Veerapandi, M.Jeyaraman & J.Paul raj joseph, "Some fixed point and coincident point Theorem in generalized *M*-Fuzzy metric spaces" Int. Journal of Math. Analysis, 3(13), 627-635 (2009).